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cl:
c2:
c3:

c4:

ch:
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void main() {
f(4);
f(8);
f(2);

s

void f(int a) {
x = g(a);
assert (x > 1);
y = g(input());
assert (y > 1);

}

void g(int a) {
return a;
¥
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void main() {

}

f(4);
f(8);
f(2);

void f(int a) {

}

x = gla);
assert (x > 1);

y = g(input());
assert (y > 1);

void g(int a) A

}

return aj;
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f(4);
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void f(int a) {
x = g(a);
assert (x > 1);
y = g(input());
assert (y > 1);

}

void g(int a) A
return aj;
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void main() {
f(4);
f(8);
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void f(int a) {
x = g(a);
assert (x > 1);
y = g(input());
assert (y > 1);

}

void g(int a) A
return aj;
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(2) 2Ye 2& 3

void main() {

cl: f(4);
c2: f(8);
c3: f(2);

¥

void f(int a) {
c4: X = g(a);

assert (x > 1);

c5: y = g(input());

assert (y > 1);

}

void g(int a) A
return aj;

}
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void main()

cl: f(4);
c2: f(8);
c3: f(2);
¥
void f(int a) {
c4: X = g(a);
assert (x > 1);
c5: y = g(input());
assert (y > 1);
¥

void g(int a) A
return a; HAEAM A4

; {c1cd, c2c4 c3c4}
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M 27.8% 271 H|E 24.4% HHeWHa AHE |7

(24 14.7%)
ctx-insensitive selective ctx-sensitve

PR TR e [ 2En | M) | gEs

make 34.4 1,500 106.2 1,028

grep 12.1 /35 15.9 653

wget 69.0 1,307 32. 947

az2ps 118.1 3,681 177.7 2,121

bison 136.3 1.894 1734 1742
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int a = b;
int ¢ = input(); // user input
for (i = 0; i < b; i++) {
assert (i < a); // query 1
assert (i < c); // query 2

}
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int a = b;
int ¢ = input(); // user input
for (1 =0; 1 < b; i++) {
assert (i < a); // query 1
assert (i < ¢); // query 2
F
alb 1
al0|0|oo|—1
bl 0|0 |oco|—1
cloo|ool 0 | oo
ilooloo|oo| O
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int a = b;
int ¢ = input(); // user input
for (1 = 0; 1 < b; i++) {
assert (i < a); // query 1
assert (i < ¢); // query 2
I3
al|lb| 1
a|l0(0|—1
c = |—00, 400
bl0|0[|—1
ijlooloo| O
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int a = b;
int ¢ = input(); // user input
for (i = 0; i < b; i++) {
assert (i < a); // query 1
\ assert (i < ¢); // query 2
a b C 1 a b C 1
a| O 0 | co | —1 a | % | % | T | %
b| O 0 | oo | —1 b % | % | T | %
c|l oo | oo | O 00 c| T | T (% | T
i | oo | oo | 0o 0 i | T | T [ T | %
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TE7|8HMEUAL | 22|44 (2]0]7|gh
program | #query NEL =0 INEZ =0
barcode 3/ 12 16 30 37
httptunel | 28 26 17 15 26

bc 10 247 2 117 9
tar 11 1043 7 661 11
less 13 3031 0 2849 13
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